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QUESTION 1

Evaluate the following SQL statement used to create the PRODUCTS table: 

CREATE TABLE products 

(product_id NUMBER(3) PRIMARY KEY, 

product_desc VARCHAR2(25), 

qty NUMBER(8,2), 

rate NUMBER(10,2), 

total_value AS ( qty * rate)) 

PARTITION BY RANGE (total_value) 

(PARTITION p1 VALUES LESS THAN (100000), 

PARTITION p2 VALUES LESS THAN (150000), 

PARTITION p3 VALUES LESS THAN (MAXVALUE)) 

COMPRESS FOR ALL OPERATIONS; 

Which statement is true regarding this command? 

A. It executes successfully but partition pruning cannot happen for this partition key. 

B. It produces an error because the TOTAL_VALUE column cannot be used as a partition key. 

C. It produces an error because compression cannot be used for the TOTAL_VALUE partition key. 

D. It executes successfully but the values in the TOTAL_VALUE column would not be physically stored in the partitions. 

Correct Answer: D 

 

QUESTION 2

Which two are the uses of the ASM metadata backup and restore (AMBR) feature? (Choose two.) 

A. It can be used to backup all data on ASM disks. 

B. It can be used to re-create the ASM disk group with its attributes. 

C. It can be used to recover the damaged ASM disk group along with the data. 

D. It can be used to gather information about a preexisting ASM disk group with disk paths, disk name, failure groups,
attributes, templates, and alias directory structure. 

Correct Answer: BD 

Latest 1Z0-050 Dumps | 1Z0-050 VCE Dumps | 1Z0-050 Practice Test                                2 / 5

https://www.passapply.com/1Z0-050.html
https://www.passapply.com/1Z0-050.html
https://www.passapply.com/1Z0-050.html


https://www.passapply.com/1Z0-050.html
2021 Latest passapply 1Z0-050 PDF and VCE dumps Download

 

QUESTION 3

You decided to use Direct NFS configuration in a non-RAC Oracle installation and created the oranfstab file in /etc.
Which two statements are true regarding this oranfstab file? (Choose two.) 

A. Its entries are specific to a single database. 

B. It contains file systems that have been mounted by Direct NFS. 

C. It is globally available to all Oracle 11 g databases on the machine. 

D. It contains file systems that have been mounted by the kernel NFS system. 

Correct Answer: CD 

 

QUESTION 4

View the Exhibit to examine the parameter values. 

You are planning to set the value for the MEMORY_TARGET parameter of your database instance. What value would
you assign? 

A. 90 MB 

B. 272 MB 

C. 362 MB 

D. 1440 MB 

Correct Answer: C 

 

QUESTION 5

You are managing an Oracle Database 11g ASM instance with a disk group dg01 having three disks. One of the disks
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in the disk group becomes unavailable because of power failure. You issued the following command to change the 

DISK_REPAIR_TIME attribute from 3.6 hours to 5 hours: 

ALTER DISKGROUP dg01 SET ATTRIBUTE \\'disk_repair_time\\' = \\'5h\\'; 

To which disks in the disk group will the new value be applicable? 

A. all disks in the disk group 

B. all disks that are currently in OFFLINE mode 

C. all disks that are not currently in OFFLINE mode 

D. all disks in the disk group only if all of them are ONLINE 

Correct Answer: C 
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